


6.  The consumer price index (Base

vear 2011 = 100) was 125 in
January 2018, One rupee coin
worth in January 2018 in terms
of the base year is ..........
a) 80 paise
b) Rs. 1.25
c) 60 paise
d) Rs. 2

7. Belling off part of the equity of
Public Sector undertakings to
the public is known as ..............
a) capital accumulation
b) investment
¢) disinvestment

d) none of these

8. Caleulate the range of 20, 25, 28,
32, 36, 40, 50, 55, 72, 75.

9. The basie economic activities
inelude ...
a) distribution
b) production
€) consumption
d)-all of these

10. Find out the relative measure of
dispersion.
a) Coefficient of correlation
b) Standard dewviation
¢) Coefficient of mean deviation
d) Range
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2018 mmjudleiss gacedam)
alleirogalle 125 (D) o T3
(mglmnsmudete 2011 = 100).
mrSlounombate enla] demenden
amuadd 2018 soynudleios any o
RAEMUI@TISE MEL ...

a) 80 aewm

b) 1 apu 25 esom

c) 60 eeaim
d) 2 o
SUOBEOEIRD  (UNdalMEBERS
avantled acomsnemies alg
avicuosmmaam ... AT

allglesyrmy.

a) @eum ouajnleme
b} cflessais
¢) meolrilasalo

d) suewomag

adlul (range) @emescsee. 20,
25, 28, 32, 36, 40, 50, 55, 72, 75.

a@vslauoom mismu@Els (cudamm
emglal subaosimend ...,

a) almmneme

b) sefhioeme

£) @alaEe

d) srewge

B Eotautl] b
AROMITT EEEMBHTE .

a) MUADEUMY LYEMaEke

b) aoma cyelwoms

c) @owy ouyallwom cemoss
d) esalud
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Answer any six questions from 16 oymed 22 UaRWIRE ealanyamglad
16 to 22. Each carries three agiemeiage 6 s epEia’ gamanaim)e.
scores, ] (6% 3=18) | 3 messd allao. (6x3=18)
16. Complete the table, 16. agie ayboriodenys.
Mode of Data Collection | Advantages Disadvantages N
BET FUBEIMET el ! emgamh aEI5am

Personal Interview |

| Ui mdloes

|' Cannot be used by the illiterates
................................ | n‘j}mmmﬁ,ﬁgﬂm‘gﬂwgyﬂm

muome
Relatively high
response rate
| ................................ M ssheaoul guin| e
| ualeaem oo |
e s [T e |
17. Catagorize the following 17. ooy, e9am, anedouod ool
features of the economics of TUE QYAUTIOBE0S mualecaum
India, China, Pakistan under @@ oy MeIfen S Eleiowi)
three heads, oudiflasallene.,
a} One child norm a) egimgd mioags
b) High fertility raté b} pwdmm (umysiioem olnes
¢) Economic reforms in 1991 c) 1991-ss T2 ] s
d) High density of population alflnsgneme
e) Highest Human Development d) g@dm ammomes ded
Index ) ewdm aomo alemm muga ey
f) High Infant Mortality Rate (HDI)
f) swdmm udlcmymmen oflowss
18. The stagnation of Indian 18.  enng)oaf EHOBIEISTTION 8080,
agriculture during British CoEIRIWIeS Mimeemonumneniga
- period was mainly caused by the [EIWam  wonems  mewlmieiom
policies of colonial government, mdsnatladg mWaEEIeT.  mp
Briefly explain that policies. MR 1 o] aullculen e,
K-55 ] Turn Over






25. Explain the arpas ¢ be 25,
addressed for rural
development,

26, Identify the challanges faceq by 26.

the power sector in India,

27. Draw 3 pie diagram for the
following dagg -

Rural Workers (In Lakhe)
Regular salaried 28
Self—emplu}md 216

156

Casual wage labourg

Answer any two guestions from

28 to 30. Each carries five scores,
2x5= 10)

28. Point oyt the properties and five

degrees of correlation

coefficient,

29. Calculate the quartile deviatiop 29.
for the following datg -
Ii_ Class Frequency jl
0-10 | 8 /
10-20 - | 12 |
| 20-30 | 15 ’
|| 30-40 | 10 |
el
30. Critically evaluate the impact of
New Economie policy ip
Agricultyre and Industrig]
Sector.
K-55 : 7
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AL EmaeR lcaaanseys,

Lywins oudne emeae emalsymm
SRR Nl o@@@gmmmnwgmgﬁ.
WODYES0S BOMBlaie o g
Bl AN U,

e Hmovia RNy s 218
mmsnoels, @geﬂmﬂmﬂﬂagm 156

28 aymah 30 Uaowag Salaayemgla
o@emelele 2 agenomiay 2OMRaDP )M,
5 migaod allm.,

(225=10)

mlgamaaa,:rmmﬁ

[ —_r—___m
@"E__}— Ly
0-10 | 8 |

| 0-20 | 2

' 20-30 | 15 ||

I| 30-4p 10 |
40— 50 5

e o

50dnelle, Gasueimlage anonirians,
fanlawiegs oymma 0T AT iy
Moemlag BONBIW ez om
MM DO tladrmomamas)
n.ﬂmmﬂmammgﬁ.
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